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CNM sensors

e Data: data collected in Apr2018, -32 degree:
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1. Seperate charge & pulseHeight for different sensors
2. Use deltaT cut to suppress bkg events
3. Fit on charge & pulseHeight distribution and get MPV
4. Get uniformity performance for charge & pulseHeight



Suppress bkg events by deltaT

* Most sensors have similar deltaT distribution as W4-51064(+-200um is applied to
suppress bkg events), except W4-RAO02. Signal for W4-RA02 is small but can be
well distinguished from noise(so no cut is applied).
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Get MPV by fitting

* Landau x Gaussian distribution
Using function https://root.cern.ch/root/html/tutorials/fit/langaus.C.html
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e Take W4-S1095 as an example. Fit signal peak for charge and pulseHeight.


https://root.cern.ch/root/html/tutorials/fit/langaus.C.html

Charge & pulseHeight uniformity performance
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* Here shows the uniformity performance for W4-5S1095, W4-RA02, W4-RB10.
* Do we need to further suppress bkg events for W4-51064, W4-S1016,
W4-1068, W4-1067, W4-10217? Or directly fit the only peak? :
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